Moto-All.ru

CIIMCOK JOETAJIEY [IJId "CRANKCASE" BRP ENDURO 400 F

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY NI "CRANKCASE" BRP ENDURO 400 F

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 420888481 Cpok nocrapks ot 19 mHed Crankcase. Includes 1
2 20014 Cpok noctaBku 0T 35 [He# Spring washer 10
3 420841201 Cpok mocTasKy oT 25 mHeit T ax70 6
4 420841831 CpOK II0CTaBKH OT 25 fHeU SCREW-ALLEN M8X75 2
5 420841566 Cpok mocTaBKH 0T 25 gHen SCREW-ALLEN M8 X 50 2
6 20052 Cpok mmocTaBku OT 35 oHeH [TnacTuHa 3aMKa 4
7 420241816 CpOK IIOCTaBKH OT 25 [Hel SCREW-ALLEN M6 X 40 4
8 420940190 CpoOK 1oCTaBKH 0T 25 fHe# STUD-M10 X 29/20 4
9 420841149 CpoK ITOCTaBKM OT 25 OHeH STUD M8 X 167 8
10 420860962 Cpok moctaBky 0T 25 fHeH EéFS{CS)IIEV[%/II?EEE[‘Lg ABLE 1
11 420899785 Cpok mmoctaBku oT 19 nuen Loctite 221, violet, 10cc 1
12 420899784 Cpok noctaBku 0T 19 fHel Loct 574/orange/50 1
13 300037703 Cpok nocrasku oT 19 fHen Short block engine 1




